Q7150 AAEE B, 971590 Aylo|S T} Q.

(FF ¥HO] Y{ol) = 5x5x 3.14 = 78.5(cm?)
(F4Hlo]) =5x2x3.14 x 13 = 408.2(cm?)
(Auel) = (

3 WR o] Hol)x2+ (FHe]
2

)
= 78.5X 2 4 408.2 = 565.2(cm?)
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45
14 280 x — = 126 (H
X To0 ~ 126 (F)

40
29 : 300 x — =120 (¥
" 100 (¥)

126 — 120 = 6(H)
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Ap@olsh 5ol Aol ZHA L Gl $E 0] Ml 415 0], 4
o= 1200 92 ZHA I GHUTE F Aol BRE £ B 0|
T e £ )7t 3 47 HQEy e Agelel]

Agol7k A-gol 7H1 SE& [ [dolat st
4:5=1200:] |- 4x[ ]=5x1200
4x[_]=16000

[ ]=6000+4
[ ]=1500(9)

29 0% 7o) Wl £& agole} 59
3:4=(1200-A) : (1500 — A)

— 3% (1500 — A) =4 x (1200 — A)
4500 -3 X A =4800-4 X% A
4xA—-3xA=4800 - 4500

(4-3)xAa =300

A =300(¥)

w2bA] Eolof| A H =2

1500 — 300 = 1200 ()
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@ 1.5x 1.5 x 3.14 x 5 = 35.325(cm?)
@ 2x2x3.14x 3 = 37.68(cm?)

® 2x2x3.14 x 3.5 = 43.96(cm?)

@ 2.5 % 2.5 x 3.14 x 3 = 58.875(cm?)
® 3x3x3.14x2 = 56.52(cm?)
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(28%) |(14%) 9 @
@ 84cm @ 16cm ® 1.16cm
@ 10.2cm ®)11.6cm

@7t 28 %, @7t 14 % 0| B2
@+@2] H-&-2 100 - (28 + 14) = 58( %) YUt}
58

@+@9] Aol 20 x 1 = 11.6(cm) FHT




By ol7t 78.5cm? )i, ¥ °]7} 376.8cm® & w, ©] ¥7]-5<]
< 7oL,

=0

(Bylo]) = (B4¥ol) x2+ (4ol

376.8 = 78.5 X 2 + 5 x 2 x 3.14x (3°])
= 157 + 31.4x (&°))

(=°])=219.8 + 31.4 = 7(cm)
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-

T~~-31 4cm-
15¢cm
)

>
> HE . 628 cm?

({2 5) =31.4+3.14 + 2 = 5(cm)
(BHol) = (5x5x3.14)x2+31.4x 15
=157 + 471 = 628(cm?)
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= e FAA |22
(32%) ©6%) | (16%) |11%)| 71
® ©°F 34.37% @Oﬁ 34.38 % @ ©F 34.39%
@ °F 34.41% ® °F34.42%

(7-5H= H]&)= 11 =+ 32 x 100 = 34.375( %) ©|E&
2= AR A2 ol A W2 SHA oF 34.38 % o] HU .
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R+B=1336, R+A = 1117
(R+ B) — (R+A) = 1336 — 1117

B-A=219

Ad 5x| | BA :sx[ |@ta shE
8x[ ]-5x[_]=219

3x[_]=219,

[ =73

A T 5x73 =365

B% 1 8x 73 =584

RA 1117 - 365 = 752

(TF2 4)= 365 + 584 + 752 = 1701(F)




@ 1x1x3.14x5=15.7(cm?)
@ 2x2x3.14 x4 = 50.24(cm?)
®2x2x3.14x5 = 62.8(cm?)
@ 2x2x3.14x6 =175.36(cm?)
® 3x3x3.14x2 = 56.52(cm?)
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A5 (F) | 22 | 42

;AL 40237 - (22 + 42 + 117) = 56(F)
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